New Maths GCSE: A10 - Straight Line Graphs - Match the
Diagram
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Which diagram could the — 7 Correct Answer: ABCD
following equation represent: Y= —ak— i
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Which diagram could the - Correct Answer: ABCD
following equation represent: X+ y = 5 .
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Which diagram could the . Correct Answer: ABCD
following equation represent: Zx * y — 76 i
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Which diagram could the — 3 COrreCt Answer: A B C D
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Which diagram could the _ Correct Answer: ABCD
following equation represent: 3x — 4y =—12 i
a x Explanation:
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Which diagram could the - Correct Answer: ABCD
following equation represent: y —X = 3 .
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Which diagram could the - Correct Answer: ABCD
following equation represent: ) A 4x = -1 .
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following equation represent: X+ y 1 = .
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